

Sardar Patel University, Mandi





E-mail ID: registrar@spumandi.ac.in
No. SPU-Mandi/Acad./35/2022...ムリーフロ

Phone: 01905-292295 Dated: 09th April, 2024

To

All the Principals of Government/ Non-Govt. Private B.Ed. Colleges affiliated with Sardar Patel University, Mandi (H.P.)

Subject:

Regarding revised fee structure of Private B.Ed. Colleges in H.P.

Dear Sir/Madam,

Please find enclosed herewith a copy of a letter No. EDN-H(8)A(1)Pvt. B.Ed. (Fee Structure)/2016 dated 03.02.2024 received from the Dirtector of Higher Education, Himachal Pradesh alongwith its enclosures on the subject cited above for taking further necessary action in the realization of fees from students in the Private B.Ed. colleges from the ensuing Academic Sessions 2024-25, 2025-26 & 2026-27.

Yours faithfully,

-Sd-

Encls. as above.

(Dr. Yogesh Sharma)
Deputy Registrar (Admin.)

Endst. No. as above even number and dated 10th April, 2024. Copy for information to:

- 1. The Secretary (Education) to the Government of Himachal Pradesh.
- 2/ The Director of Higher Education, H.P. Shimla-01 w.r.t. above mentioned letter dated 03.02.2024.
- 3. The Dean CDC, SPU Mandi.
- 4. The Nodal Officer (Website), SPU Mandi with the request to upload the above referred letetr along with its enclosure on the University Website.
 - 5. The PS to Pro-Vice Chancellor, SPU Mandi.
 - 6. The PS to Registrar, SPU, Mandi.
 - 7. Guard File.

Deputy Registrar (Admin.)

N. TDN-H (8) A (1) Pvt. B.Ed. (Fee Structure)/2016 Directorate of Higher Education Himachal Pradesh I mail dhe-sml-hp@gov.in college branch@rediffmail.com Phone No. 0177-2653120, 2653575, Ext. 221 Fax: 0177-2812882

Dated: Shimla-171001,

10

The Registrar Himachal Pradesh University SPU Summer hill. Shimla-5/Mondi, HP-

The Secretary. Himachal Pradesh Private Educational Institution Regulatory Commission, Happinest Building Below BCS Kangnadhar, Shimla, HP-171009.

Sub: -

Revised Fee Structure of Private B.Ed. Colleges in HP

I have the honour to invite your kind attention to Govt. letter No. EDN-A-Ka(6)-1/2023 dated 28 12.2023 on the subject cited above.

In this context, please find enclosed herewith photocopy of Revised Fee Structure of B.T.d. Course in Privately Managed B.Ed. Colleges in HP duly approved by the Govt. of HP vide above merstioned letter dated 28.12.2023. You are further requested to do the needful and to convey the same to all concerned Private B Ed. Colleges in HP through their Principals for its implementation accordingly.

Yours faithfully,

Director of Higher Education,

Himachal Pradesh. January, 2024

Even

Shimla

dated

Copy for information / further necessary action to: -

The Principal Secretary (Education) to the Govt. of HP w.r.t. above mentioned letter dated 02.11.2019.

Supdi., Legal Cell, Directorate of Higher Education, HP w.r.t. CWP No. 1268/2023.

The Technical Officer. IT Cell with the direction to upload the information on Departmental Website 4. immediately.

Guard File

Director of Higher Education. Himachal Pradesh, Shumla-01

Sr. No.	Particular	Per Month w.e.f. 2019- 20 for two years	Course.			Per Month w.e.f. 2024-25 for two years			
1	Monthly Charges	Course	Total for 24 Months	Ist Year	2nd Year	Course	Total for 24 Months	Ist Year	2nd Year
*	Amalgamated Fund	90/- X 24	2160/-	1080/-	1080/-	108/- X 24	2592/-	1296/-	1296/-
2	Lib. & Reading Room Fee	60/- X 24	1440/-	720/-	720/-	72/- X 24	1728/-	864/-	864/-
3	Practical for Science and Other subjects.		1800/-	900/-	900/-	90/- X 24	2160/-	1080/-	1080/-
4	Other Students Activities	75/- X 24	1800/-	900/-	900/-	90/- X 24	2160/-	1080/-	1080/-
5	Computer Fee	150/- X 24	3600/-	1800/-	1800/-	180/- X 24	4320/-	2160/-	2160/-
otal Component-III		450/- X 24	10800/-	5400/-	5400/-	540/- X 24	120(0)	1122	
	Grand Total I, II & III (in Rupees)		98010/-	The same of the same of	48495/-		12960/- 117940/-	59486/-	6480/- 58454/-
IV	Library Security (Refundable after the session)	Rs. 1000/- Course)	(One time	for the	e B.Ed.				
V	University Charges	The levy Cl will be char existing rule	ged by the s of HPU/S	HPU/SP PU	U as per	r			
1		Examination semester	n Fee @	Rs. 14	00/- per	r			

9



Annexure-I

Revised Fee Structure for two year B.Ed. course in r/o private colleges/Institutions where B.Ed course is being run on self financed basis for academic sessions 2024-25, 2025-26 & 2026-27

Sr. No		years B.E	d. Course.	ire for two	Course.			
		Total in Rupees	1 st Year	2 nd Year	Total in Rupees	1 st Year	2 nd Year	
I	Tuition Fee	84000/-	42000/-	42000/-	100800/-	50400/-	50400/-	
II	Annual Charges							
1	Admission Fee (in Ist year)	1100/-	1100/-	0	1100/-	1100/-	0	
2	Continuation Fee	140/-	0	140/-	140/-	0	140/-	
3	Building Fund	0	0	0	. 0	0	0	
4	Repair & replacement of furniture and books	550/-	275/-	275/-	660/-	330/-	330/-	
5	House Examination	400/-	200/-	200/-	480/-	240/-	240/-	
6	Magazine Fund	80/-	40/-	40/-	400/-	200/-	200/-	
7	I. Card.	60/-	30/-	30/-	150/-	75/-	75/-	
3	Medical Fund	80/-	40/-	40/-	100/-	50/-	50/-	
)	Student aid Fund	280/-	140/-	140/-	336/-	168/-	168/-	
0	Electricity & Water Charges	160/-	80/-	80/-	192/-	96/-	96/-	
1	College Badge	60/-	60/-	0	72/-	72/-	0	
2	Society Fund	60/-	30/-	30/-	150/-	75/-	75/-	
3	Sport Fee	120/-	60/-	60/-	200/-	100/-	100/-	
4	Cultural Activities Fund	120/-	60/-	60/-	200/-	100/-	100/-	
	Component II	3210/-	2115/-	1095/-	4180/-	2606/-	1574/-	

· Pu

